
Fl:' - i]J?l{r lli?

SA-2 xffiue'f;rsL

,:.4 I'1- -{i tri._'= \tl hia

zi1a ai= arrs e" fd6 o-a€ r 5.2=10 rlia

Jryr?q ..t6 6i I <' l= I 5

I F{F jg *g s'+=20

;;, r' ., rLfil0 $jz

-- if 3 €E1
HH'5.

f€x'-ftd

SA-z xfdueH
, Hx: irs de r - tt)

_, H.E|3 i;f1fu1 r -5" 1=5

r.:r,:fi etr' qi r -:" t=5

.r ea rr€ r -5"2= l0

. irte-j' €tryi F3Gr | -5. I =5

r,. frfl g€1q 1 5" 1=5

r f?dd Frsg | 5- l=5

r. ro v+& fu{ | i.l=5

:, LrF-j ? Srs fu€r+'s=zo

tr'.fu--u3drto.l=lo

l. ,su ffirltt'l=t0

ds vfa:go

.i.4 bid:90



rl,r ri: rr) fllz

1 gq1 gre' ll).1

nl-J fi# I s#
ftFr-<BrEilr ffrfor?{r

SA- 2 Ffd asfur

= 20 8a

: l0 bia

- 5.2= r0 rid

: l0 Yt?a

= l0 b?a

: l0 Did

= 20 *a

a*rr- 3'd or cth

SUBJECT-ENGLISH

INSTRUCTIONS FOR SA-2

do D?a:so

TOTAI- MARK-90
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TIME 2 HOURS 30 MIN

Q:1 COM PREHENSION PASSAGE

t.rr QLestron answer 2'3= 5 MARKS

{o) B,a.rk\ 1'2=2 MARKS

l() Change the number- 2'1=2 MARXS

Q.2 FILL lN THE ELANKS WITH (a/an) -5*2=

Q 3 WRrrE BODY PARTS/FRUITS -5',2=

Q:4 IRANSTATE INTOPUNIABI - 5'2=

Qr5 Fltl lN THE BLANKS WITH ADIECTIVES- '5'2=

Q:6 MATCH THE GIVEN COLUM AWITHB -5'2=

Q 7 MAKE SENTENCTS -5'2=

Q:8 DEVETOP A PARAGRAPH FROM TH€ HINTS

O:9 MIND MAPPING -5'1:

Q lO wRlIf NAMTS OF ANIMALS-5'l=

TOTAL=

1O MARKS

10 MARKS

10 MART';

10 IIARKS

10 MARK

IO MARKS

10 MARKS

5 MARKS

5 MARKS

90 MARXS
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